English
Grade 2

National Level Examination

NLE 2024 Subject Code: |4 |0 | 1

Total Questions: 30 Time: 1 hour

DO NOT OPEN THIS BOOKLET UNTIL INSTRUCTED TO DO SO

» All questions are compulsory.

» Read the instructions on the ANSWER SHEET and fill in your NAME, CLASS and
OTHER INFORMATION.

» To mark your choice of answer by darkening the circles in the ANSWER SHEET, use
an HB PENCIL only.

You MUST record your answers on the ANSWER SHEET only.

» There are 30 MULTIPLE CHOICE QUESTIONS. Use the information provided to
choose the BEST possible answer among the four options. On your ANSWER SHEET
fill in the circle that matches your answer.

> ;— MARK will be deducted for every WRONG ANSWER.

» Return the ANSWER SHEET to the invigilator at the end of the examination.

> You are NOT allowed to use a calculator. You may use a ruler and spare paper for
rough work.
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This question paper contains a total of 30 questions divided into two sections—A and B.

Read the instructions carefully before attempting these questions.

/ Section A (Subject Specific) /

Fill in the blanks with the suitable rhyming word in the following sentence:
Snopy the dog was round and fat.

He ran all day and sleptonared

(A) bed (B) carpet

(C) mat (D) hat

. Select the word which starts and ends with a consonant.

(A) Food (B) Coffee

(C) Inside (D) Orange

. Which of the following words is an antonym of the word ‘cheap’?
(A) Best (B) Inexpensive
(C) Costly (D) Expensive

. What is the opposite gender of the word ‘horse’?

(A) Fox (B) Dear

(C) Mare (D) Lion

. Which word is a common noun in the following sentence?

A tortoise walks slowly.
(A) Slowly (B) Walks
(C) Tortoise (D) None of these

. Choose the correct pronoun that could replace the noun given in bold in the following
sentence:

The leopard can run very fast. Leopard also has a strong sense of smell.
(A) He (B) His
() It (D) They
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Which of the given prepositions will complete the following sentence correctly?

He ran the road to catch the bus.
(A) in (B) from
(C) across (D) over

Look at the picture and choose the correct name of the following clothing:

Ppererpires
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(A) Skirt (B) Pant
(C) Frock (D) Shirt

Choose the correct antonym of the word given in bracket to complete the following
sentence:

The butter will , so keep it in the refrigerator. (freeze)
(A) melt (B) dissolve
(C) stale (D) solidify

Choose the one that is not an adjective in the following sentence:
There are two huge spotted dogs.

(A) Two (B) Huge

(C) Spotted (D) Dogs

Which of these groups of words has rhyming with each other?

(A) Shade, Sun (B) Find, Mind

(C) You, Me (D) The, He

Choose the appropriate article to complete the following sentence:
He came hour before the party.

(A) the (B) a

(C) an (D) none of these
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Which of the following is a correctly punctuated sentence:

(A) honesty is the best policy. (B) Honesty is the best policy?
(C) Honesty is the Best policy. (D) Honesty is the best policy.
Identify the type of the following sentence from the given options:

What did Jane say to Harry?

(A) Exclamatory (B) Interrogative

(C) Declarative (D) Imperative

Identify the adverb used in the following sentence:

Sarika worked accurately in her report.

(A) Report (B) Her

(C) Accurately (D) Sarika

Choose the option that represents the correct emotion related to the interjection given
in bold in the following sentence:

Aww! Bless their hearts, they did their best.

(A) Pleasure (B) Shock

(C) Criticism (D) Sympathy

Identify the tense of the following sentence: ‘The school starts at 7:30 in the morning/
(A) Past Tense (B) Present Tense

(C) Future Tense (D) None of these

Identify the part of speech given in bold in the following sentence:

Wow! What a lovely tourist destination Gulmarg is.

(A) Interjection (B) Conjunction
(C) Adverb (D) Adjective
Which of the following is a home to termites?

(A) Byre (B) Mound

(C) Lair (D) Web
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20. Which of the following sounds do hyenas make?
(A) Moo (B) Bleat
(C) Neigh (D) Laugh
21. Identify the verb in the following sentence:
Running makes people fit and active.
(A) Running (B) Fit
(C) Makes (D) Active
22. Choose a word to make a compound word with the last word in the following sentence:
I like to write with chalk on the black
(A) cloth (B) board
(C) pen (D) paper

Observe the picture given below and answer the questions 23 to 25.

23. What adjective cannot be used to describe the picture?
(A) Pretty (B) Huge
(C) Tiny (D) Beautiful
24. What is the boy in the picture wearing?
(A) Jacket and trousers (B) Jeans and shirt

(C) T-shirt and shorts (D) Sweater and trousers
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Observe the picture and identify the element that is essential for our environment.
(A) Pavement (B) Trees
(C) Door (D) Rocks

/ Section B (Competency Enhancement) /

Choose the part of the sentence that contains a preposition.
(i) Suzaneis (ii) running (iii) behind (iv) her dog

(A) (iv) her dog (B) (iii) behind
(C) (i) Suzaneis (D) (ii) running

Read the following sentences and choose the option which combines the given sentences
appropriately:

Lara is going to Hong Kong. Lara is not going to London.

(A) Larais going to Hong Kong but not to London.

(B) Larais going to Hong Kong or not going to London.

(C) Larais going to Hong Kong because not to London.

(D) Larais going to Hong Kong though Lara is not going to London.

Choose the correct option with the words placed in the right order to form a meaningful
sentence from the following jumbled words:

Shopping / is / her / Deepti / for / birthday

(A) Deeptiis shopping her birthday for. (B) birthday for is her shopping Deepti.
(C) Deeptiis shopping for her birthday. (D) her Deepti for birthday shopping is
Choose the sentence in which articles (a, an, or the) have been used correctly.

(A) An moon revolves around a earth.

(B) The moon revolves around a earth.

(C) The moon resolves around the earth.

(D) A moon revolves around an earth.
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30. Choose the most appropriate verb form to fill in the blank and complete the following

sentence:

Go and ask her, if she her homework.

(A) completes (B) will have completed
(C) will completing (D) has completed







